oh2 23 2ol A =90° 91 27}
AP A A oA HHo ™ &
Aol dhe H 2 513, AB = V5cem,
AC = 2cm, /BAH = x, /CAH = y
A o, cosx + cosy 9 G427

@ 2+245 ® 2435



th-S I8 2 AABC oA AB = 6,
BC=100°]1, Yol7b15v3 & o, /B 9]
3717 (2, 90° < /B <180°)

D 95° @ 100° ® 120°

@ 135° B 150°



o2 1 o] AsHAoA LAGE = x 2
I, sinxxcosx o] FH& FF AR
B AL
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@ (671 -6 \/§> cm?
® (67r -8 \/3) cm?
® (671 -10 \/§> cm?




\/(cosA —sinA)? + \/(simA+cosA)2 = V2 4 o, tanA ©] F2?
(HF, 0°<A<45°)

@D 242 @ 2 B® V3 @ 1 ® 0



o= 2™ Zo] 7 A7 4A4A 9t Z/ABC = /BDC =
90°,

/DBC = 45°, /BAC = 60° ©] 1, DC = 3V2em & o], AAH F&
AEBC ©] §o]E=?

@ 6(V3-1)cm? @ 6(V3+ 1)em?
® 9(V3-1)cm? @ 27(V3 -1)cm?
® 12(V3-1)cm?



